BOOKS PURCHASED DEPARTMENT OF ENVIRONMENTAL SCIENCE (2018-2019)

SI No.	TITLES	AUTHOR	COPIES	PRICE	AMOUNT
	0				
1	Biochemical Methods 21709	Sadasivam	1	Rs 195.00	195.00
2	Fundamentals of Ecology 5th Ed. 21707	Odum	1	Rs 775.00	775.00
3	A Introduction to Practical Biochemistry 3rd Ed. えげん I	D.T. Plummer	1	Rs 585.00	585.00
4	Bioinstrumentation 21726	J.O. Webster	1	Rs 559.00	559.00
5	Remote Sensing and Image Interpretation 6th Ed. 21712	Lillesand	1	Rs 979.00	979.00
6	Measuring Biological Diversity 21733	A.E. Magurran	1	\$ 110.95	7588.98
7	Biostatistical Analysis 21チ14	J.H. Zar	1	Rs 959.00	959.00
8	Experiments in Microbiology, Plant Pathology and Biotechnology 21730	K.R. Aneja	1	Rs 399.00	399.00
9	Principles of Environmental Chemistry 21715	J.E. Girard	1	Rs 1295.00	1295.00
10	Essentials of the Earth's Climate Change 21732	Barry	1	\$ 74.99	5129.32
11	Analysis, Synthesis and Design of Chemical Processes 4th Ed. 21チ 名8	Turton	1	Rs 1039.00	1039.00
12	Ecology and Applied Environmental Science ミュイシス	Hadjibiros	1	£ 65.99	6150.27
13	Laboratory Manual of Microbiology and Biotechnology 21717	K.R. Aneja	1	Rs 650.00	650.00
14	Biodiversity and Environmental Change: Monitoring, Challenges and Direction 21 す 2.く	Lindenmayer	1	\$ 118.95	8136.18
15	Instant Note's Microbiology 4th Ed. 21703 - 04	S. Baker	2	Rs 525.00	1050.00
16	Basic Environmental Health	A. Yassi	1	£ 51.00	4753.20
17	Environmental Science 21744	G.T. Miller	1	Rs 650.00	650.00
18	Tropical Forest Community Ecology 21749	W.P. Carson	1	\$ 116.95	7999.38
19	Tropical Plant families: An Identification Handbook 👂 a 1750	T. Utteridge	1	\$ 35.00	2394.00
20	Principles of Environmental Toxicology 21740 GST EXEMPTED ON	I. Shaw	1	£ 46.99	4379.47
	"PRINTED BOOKS"				
	Under Section 23 of GST Act 2017				
	Chapter 49, HSN Code 4901				
		Q niek			
	(RUPEES FIFTY THOUSAND ONLY)	Kastern Boo			
Thankin	£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10			SUB TOTAL	55665.79

BOOKS PURCHASED FOR DEPARTMENTAL LIBRARY DEPARTMENT OF ENVIRONMENTAL SCIENCE (2018-2019)

SI No.	TITLES	AUTHOR	COPIES PRICE			AMOUNT
1	Biochemical Methods $21710-11$	Sadasivam	2	Rs	195.00	390.00
2	Microbiology: A Laboratory Manual 10th Ed. $21720-21$	Cappuccino	2	Rs	929.00	1858.00
3	Prescott's Microbiology 8th Ed. $21723 - 24$	Sherwood	2	Rs	1995.00	3990.00
4	Biotechnology:Expanding Horizons え/チ3 9	B.D. Singh	1	Rs	425.00	425.00
4 5	Fundamentals of Ecology 5th Ed. 21708	Odum	1	Rs	775.00	775.00
6	Theoretical Ecology 3rd Ed. 21738	R. May	1	£	55.00	5126.00
7	Elements of Ecology 8th Ed. 21705ー 06	Smith	2 '	Rs	989.00	1978.00
8	A Introduction to Practical Biochemistry 3rd Ed. 21702	D.T. Plummer	1	Rs	585.00	585.00
9	Bioinstrumentation ロイチスチ	J.O. Webster	1	Rs	559.00	559.00
10	Understanding Earth 7th Ed.	Grotzinger	1	\$	193.99	13268.92
11	Laboratory Manual for the Examination of Water, Waste Water and Soil 21743	Rump	1	\$	105.00	7182.00
12	Meteorology Today: An Introduction to Weather, Climate and the Environment 10th Ed. $2/742$	C.D. Ahrens	1	\$	85.00	5814.00
13	Remote Sensing and Image Interpretation 6th Ed. $21712-13$	Lillesand	1	Rs !	979.00	979.00
14	Fluvial Processes in Geomorphology 21737	L.B. Leopold	1	\$:	24.95	1706.58
15	Applied Hydrology 21735	V. Chow	1	Rs S	920.00	920.00
16	Biostatistical Analysis 2173を	J.H. Zar	1	Rs S	959.00	959.00
17	Experiments in Microbiology, Plant Pathology and Biotechnology 2173 (K.R. Aneja	1	Rs :	399.00	399.00
	Principles of Environmental Chemistry 21716	J.E. Girard	1	Rs :	1295.00	1295.00
19	Analysis, Synthesis and Design of Chemical Processes 4th Ed. 217 29	Turton	1	Rs :	1039.00	1039.00
20	Laboratory Manual of Microbiology and Biotechnology 21768 - 19	K.R. Aneja	2 .	Rs	650.00	1300.00
21	Analysis, Synthesis and Design of Chemical Processes 4th Ed. 21729 Laboratory Manual of Microbiology and Biotechnology 217688 EXEMPTED ON Environmental Science 21745 48 PRINTED ON	G.T. Miller	4	Rs	650.00	2600.00
(22)	Tropical Plant Families: An Identification Handbook 21755 Section 23 of COKS**	T. Utteridge	1	\$ 3	35.00	2394.00
	Environmental Science & I FAS — 48 "PRINTED BOOKS" Tropical Plant Families: An Identification Handbook & Families & Section 23 pt GOT Act 2017		(A) NO.			
	7301	800KA	30			
	(RUPEES FOURTY NINE THOUSAND NINE HUNDRED EIGHTY EIGHT ONLY)	TON B				
£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		10 NE	/	S	UB TOTAL	55542.50